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Note : Attempt Five questions in all. Q. No.1is § S , " & W
compulsory. All questions carry equal marks. 5 5 s I\ STTH L1 aE e
o g T T A FE w@m, 2009 99 & fAw IEAM
. Short Answer Questions : 2 3 Yod &1 A AMZA daWl HAE F 3
(a) Write a note on semi-averages method safd & @y fagmEs faa w feame .
(b) Explain the concept  of conditional EL T (HrE %)
probability. 2000 18
(c) State the Bernoulli's theorem on
" 2001 40
probability.
2002 65

(d) Therc are six seats in a car. In how
many ways can SIx persons be seated ?
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For a binomial distribution the mean is 4

and variance 1s 2. Find the probability of

getting (1) at least 2 successes (ii) at
most 2 successes,

Fit a binomial distribution to the
following data :

x : 0 1 2 3 4

S 28 62 46 10 4

In a normal distribution, 7% of the items
have value under 35 and 89% of the
items have values under 63. Find the
mean and standard deviation of the

distribution.

In a BCom. Il Examination. the
distribution of marks obtained in normal
with mean 500 and standard deviation
100. If out of 674 appearing in the
examination 550 had to be passed, what

should be the minimum pass marks ?
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8. What 1s meant by theoretical distribution ? (e) Write a short note on moving average
Discuss the salient features of the binomial method of measuring the trend in Time
normal and Poisson distributions. Series.

(f) Define normal distribution.
> (@ 1 a random variable X follow Poisson (g) Write Constants of Poisson Distribution.
Glawibution such that plx = 1) - (h) Write Constants of Binomial
plx =2). find (i) mean (i) p(x = 0) Distributions. https://www.cdluonline.com

(iii) p(x > 2).

= = 2. What are the components of Time Series ?
(b)  If the probability of defective bolt is E: E | Explain briefly the methods of measuring.
find (1) The mean and (ii) Standard ’; ; 3. From the following data fit a straight line
deviation of defective bolts in a total of £, E_S_: trend by the method of least squares. Assuming
900 bolts, S S that the change will continue at the same rate,
= =3 estimate the trend value for 2009 and represent
(Hindi Version) % g data along with trend values on a graph paper.
=
M ;. H/A UG WA F IW Afaw 9 F | Year Income in (Lakh Rs.)
afard & 1 wvft wed F uim ogmm ¥ 2000 38
. &9 3T wvR . 2001 40
. 65
(#) wF-worw A w frooi fafen | 2002
o . . 2003 72
(A gy ufasa F:1 gEew F1 avia #ifar
| e L 2004 69
(B) wifg @ &1 99 999 FH gGuE Hmifen
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2005 60 6. (M TF fga §=9 &1 Mm@ 4 3 wyow@ 2
2006 87 2 () 9} $9 2 UhTAN () Afuw
_— o5 q afus ¥ wHeEN TR H wEEA
T ®fET |
. N E (7) Frefafan sisl W R d27 w1 S
4. (a) A person-X speaks truth in 200 Cases :
while another person-Y speaks the truth x 0 I 9 3 4
40 :
in — cases. Find, while narrating the = = S 1 28 62 46 10 4
50 ] ] '
same event, in how many per cent cases z 5? 7. () & w9WG &4 H 7% W & e
they will contradict each other ? Z E 35 % #9 3R 89% WI F TA 63
] #] -
=2 =2 q FY Yo7y
(b) Two unbiased dice are thrown together = =] ¢ W A F oA
. - 4 value of 3 =3 faaem @ #ifST
at random. Find the expected value o 5 5 q . i
i z (@) & =/ fyia e § wenH w1 G
the total number on them. g % 3 f s00 3
(¢) Three dice are thrown once. What 1s the faaem 100 ® | afX wdar o X} 9
probability of getting at lcast one '6". 674 3 ® ] 550 I F W@ FE W

@ Am U e Fm ¥R wfgg ?

5. Define probability and explain the importance

8. quf<s amafy @7 #1 ¥ ad 2?2 Rw,
TR U @ETE §ed h qed wem o A
fagem =ifeg

B-5064 8

of this concept In statistics
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